[ B+ SERETEROHATm Y7 ]
T 2 3 ; -
A oy—ruc NN ISP RNV [ ) .
T
7Y —F L HC 3[3:?)]2 3[;:3]6 Lo 3 2
2
we 2[(2):3 ]3 1[(1):(1)]1 0 -1 -1 1 3
3
B U — 6[2:”3 1[}):(1)]1 R !

[ BRE 7V RU—~vFoi (EZEOE) ]

: ’ ’ % Jig
B A=7 4=V F[BAXBerry's |5=H—LX B B ) |
i
1
LHEZT 40— R 7[2:(1)]1 9[2:8]0 20 -0 6 1
2
HYBerry s 1[(1):?1 ]7 4[§:8]0 1«0 -1 3 9
3
LSEZH =LK O[ 8:2 ]9 0[ 8::13]4 0+ 0 - 2 0 3

[ BE 7Ly RU—~yFoil (FEFEOH) ]

3 1A =T 7 A H—2
0 1
5 2HXY My o
3 4
P
Gitig =7 LA 1 3T N— v — 7B
11 FJRT V— v — 7B
1
= 45 A — T VA
2

5 KEEHC



